Precalc takeaways Name:
Math 3 Unit 6: Modeling Periodic Behavior

Standards

M3 6.1 I can find coordinates of points on a circle centered at the origin.

M3 6.2 I can calculate the length of an arc that subtends an angle and convert between degrees
and radians. '

M3 6.3 I can graph points using polar coordinates and find coterminal angles.

M3 6.4 I can model circular motion with a transformed sine or cosine function and graph a
transformed sine or cosine function.

M3 6.5 I can relate sine and cosine to points on a unit circle and use special right triangles to
find certain points on the unit circle.

Angle of rotation in standard position
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Calculating the point (Z;¥) where a terminal ray of an angle of rotation in standard position
intersects a circle centered at the origin ( (), 0)
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angles that have the same cosine:
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Features of the sine graph
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midline: averaqge hciﬁb\f of Hae sine Lunekon
midline of LHY=sin(x) is 4Y=0

amplitude:

shape:
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anchor points: o6& (1) = siq (x)

(0,0) , (0%1), (180%,0), (230%-1), (360°,0)
h(t) = asin (bt) + d

o= am‘;\i’rude (or vodius of circle)
b= deqrees per second
d= heignt of midline
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Features of the cosine graph

hape:
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anchor points:

©,1, (907, 0, (180°,-1), (2170°, 0); (360°, 1)
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converting between degrees and radians

' : 60O’
Mgle \a degrees = omg\e i vadians ¢ 3-’-5;‘.;-'

. , , AT
&ng\e n vadians = angle wn deqn 30



angles in standard position (degrees and radians)
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rationalizing a denominator
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Unit circle

(cos, sin)




